( What am I? )

Subtract and use the letters to find the answer to the riddle

45 - 33 = JA
57 - 19=( JF

56 — 19=DH 41 —

62 — 14:@13 55 —

72-22=( ]Y 45 —

What can you catch but not throw?

12 20 37 42 35
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( What am I? )

Subtract and use the letters to find the answer to the riddle

45 — 33 =[(12] A
57 — 19 = (38] F 5

63 — 21 =(42]L 49 — 29 = (20| C
56— 19=(37)H | 41 — 13 =(29] S
51— 29=(22)N 95— 20=(75]G

62 — 14 = (48] P 55 — 18 =(37]0

72 - 22 =[50]Y 45 — 10 =(35]D

What can you catch but not throw?

12 20 37 42 35
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